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Question Number : 1 Question Id : 7368154849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Convert 48 into a binary number.

Options:
1 % 101010



> % 100100
s % 110011
4 « 110000

Question Number : 1 Question Id : 7368154849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
48 FI TEAT HEAT H 9NGEd FI
Options:

. % 101010
. = 100100
- = 110011
4 v 110000

N

Question Number : 2 Question Id : 7368154850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The number of prime factors in (15)" =< (4" = (6)" is:

Options:
1 ® 04

o W 05
3. ¢ 98

Question Number : 2 Question Id : 7368154850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
(152 <@ <(6)° H AT FILHT F T&AT ¢

Options:

1 = 94
> % 95
z « 98
4 % 96

Question Number : 3 Question Id : 7368154851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What least value must be assigned to * so that the number 3482*05 is divisible by 97

Options:

1.¢ 2
o W 0
o W §]



Question Number : 3 Question Id : 7368154851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

+ & v FlF @1 F7 ¥ F7 go¥ @@ Jer anfge aifF wwmr 3482405, 9 A
LI I

Options:

1. ¢

2 %

3 %

LW G W

4

Question Number : 4 Question Id : 7368154852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Compute; 123 x 9999+123.

Options:
| ® 546999

> « 1230000
2 % 2460009
4 % 1239999

Question Number : 4 Question Id : 7368154852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

IOTAT L 123 «9999 + 123
Options:

| % 546999
- « 1230000
- 2460009
. = 1239999

Question Number : 5 Question Id : 7368154853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Find the units digit in (255)™ +(241°%
Options:

1.¥ 6

2%-35

1
4 % 0



Question Number : 5 Question Id : 7368154853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

(255) +(241) H SHIS FT 37F AT Fi
Options:

1. v 8

> % D

z % 1

4% 0

Question Number : 6 Question Id : 7368154854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Compute: 132 x 625+625.

Options:
1 « 83125

> % 83145
5 % 83415
4 % 83541

Question Number : 6 Question Id : 7368154854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

IOTAT FL: 132 «625 + 625
Options:

. v 83125
, % 83145
- = 83415
. % 83541

\ 8

Question Number : 7 Question Id : 7368154855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Hasini studies for 5%&0:;;3 daily. She devotes 3%.&01&3‘ of her time

for Science. How much time does she devote for other subjects?
Options:

3
3= hrs
i ® 2

1
_ 2— hrs
o R 10

22 hrs
3¢ 6



2
3= hrs
4 % 3

Question Number : 7 Question Id : 7368154855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
afee Sfafee 61 O & T wewms F ¥ 97 IO TG F 35 W
s &7 2 81 38 3= Awat & haar g3 o 22

Options:

A
® 2

i
"I s
. 2ﬁ}:rE
R
¢ b
g
4 % 3

Question Number : 8 Question Id : 7368154856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Ram and Srinivas together bought a water bottle that contained 5

. - 3 . -
litres of water. Ram consumed S Of the water. Remaining water

was consumed by Srinivas. Find the amount of water consumed by
Ram in litres?

Options:

1 % 15L

5 % 1.4L
5 = 2.5L
i 3755

Question Number : 8 Question Id : 7368154856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TH 3T SAfFgw S v g 9= $ vE ager @ier oraE
E@Hmm]m#%mﬁml I UTeAT AfrETE &

forar | 79 gErT B v arelr fr AT F Aer # ga
FAIMT?

Options:




L v 375 A

Question Number : 9 Question Id : 7368154857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

hour

=1 |

; : : : : . ;5 3
Anil. Bharath, Chandu and Dravid finished coloring a picture in . hour. 5 hour,

andg hour respectively. Who among the following finished their coloring last?
Options:

1 % Dravid

> o Anil

= % Chandu

4 % Bharath

Question Number : 9 Question Id : 7368154857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25 . \
I, ma{ﬁ?aﬁ?ﬁmﬂguﬂﬁ?aﬁ?uﬁ
sﬂw;@a‘éﬁmﬁ:ﬁﬁmﬁ#mﬁﬁmm|
Tao@a # ¥ &8 3@ # TT 931 gATg Rmar ?
Options:

l-ﬁaﬁg
> v HfAS

3_@&%
4_&3%

Question Number : 10 Question Id : 7368154858 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which among the following is the largest?

13
i —

3

|
ra | =
B | D

Options:

w | mlﬁ B | =

ta | D



Question Number : 10 Question Id : 7368154858 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

frofl@a & o1 ol gaw T3 &2

13
3

2 | =]
2 | o

3
3737

Options:

b | =

1. %

[
%
"”lE

L
¥
[\-...ll'w.D l._..il'....h

4. v

Question Number : 11 Question Id : 7368154859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The difference of two numbers is 20 and one-fifth of their sum is 10. Find the largest
number,

Options:

1 ® 31

oo 46

o ® &7

4 o 35

Question Number : 11 Question Id : 7368154859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

2T 37 FT 3aT 20 3K 39% TeT I 1/5 fFEar 10 ¥ §Ew 9 §EAT & 94T
ST |

Options:

1 & 81
- % 46
z % 27
4 v 35

Question Number : 12 Question Id : 7368154860 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The difference between a number and its two-fifth is 27. What is the number?
Options:

1 = 48



3.« 45
4 35

Question Number : 12 Question Id : 7368154860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

U TET 3T 30+ 2/5 & &= F 397 27 &1 T&IT 47 27
Options:

1 = 48
> % 66
z « 45
4 % 35

Question Number : 13 Question Id : 7368154861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Find the value of (=2)" = (2)" =(3*
Options:

1.« &1

o R -81

Question Number : 13 Question Id : 7368154861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
(=2 x(2)°x(3)* & AT &HT IaT AT

Options:

1 « 81
> % -81
z % /D
4 % =75

Question Number : 14 Question Id : 7368154862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If 87X2-5Y56=3628. then which of the following should come in place of Y?

Options:

L]

1. %

2



Question Number : 14 Question Id : 7368154862 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Ofe 87X2-5Y56=3628 &, Al @A H# ¥ Y &F T U FIAT HAT AMET?
Options:
1. ® 3
o o 1
= W 5

4 % 5

Question Number : 15 Question Id : 7368154863 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
(409 4213) +(409-219)°
C 409%409+213x213

Solve

Options:
1 ® 1625
> % 0622
3 2
4 ® 1026

Question Number : 15 Question Id : 7368154863 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T FX: (409+213)" +(409-213)" _
T 409x409+213x213

Options:

% 1625
o % 622

3¢ 2
. % 1026

Question Number : 16 Question Id : 7368154864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The present salary of Krithi is Rs.4800. This will be increased by 12% in the next year.
What will be the increased salary of Krithi?

Options:
1 #® Rs.5290

> o Rs.5376
= % Rs.5250

4 % Rs.5260



Question Number : 16 Question Id : 7368154864 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fal F T Id4 4800 FIC g| HeTer I $HA 12% &Hr g g ghg &
TS FTo F T g IAA FAT G

Options:

. % % 5290
. v T. 5376
2 % . 5250
. % T. 5260

Question Number : 17 Question Id : 7368154865 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In an examination. 95% of the candidates passed and 600 failed. How many candidates
appeared for the examination?

Options:
;% 13000

> % 14500
s % 12500
4 « 12000

Question Number : 17 Question Id : 7368154865 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T alieT #, 95% e IATT AR 600 eedor gul A wleedt ol A
¥ 9

Options:

. % 13000
. % 14500
- = 12500
12000

S

4.

Question Number : 18 Question Id : 7368154866 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘What percent of 2 i days is 12 minutes?

Options:
1 % 0.85%

5 0.33%
5 % 0.65%

4 % 0.54%



Question Number : 18 Question Id : 7368154866 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

2. & &1 Trgar sfaea 12 B=e g 87
Options:

. % 0.85%
- ¢ 0.33%
- % 0.65%
. = 0.54%

Question Number : 19 Question Id : 7368154867 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Express 75 paise: 6 rupees in its simplest form.
Options:

1 ® 65

o B 7.6

= o 1:8

4 % 56

Question Number : 19 Question Id : 7368154867 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
75 %8 : 6 TUY T SHF HIGIAH T H 200

Options:

1 # 65
> % 1.6
=+« 1.8
a - B

Question Number : 20 Question Id : 7368154868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Two numbers are in ratio 7:5. If 5 i1s subtracted from each. the ratio becomes 6:4. Find the
smallest number.

Options:

i: # 20

=) b 35

o W 25

4 * 15

Question Number : 20 Question Id : 7368154868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



ar 37 7:5 F IFFUT H gl Tig 5 F Iedw H T HERT AT E, O T 6:4

21 ST 8 §99 ©IEr EAT T 947 T
Options:

1 & 20
> % .35
2 o 25
4 % 15

Question Number : 21 Question Id : 7368154869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A bag contains 50paise, 25paise and 10paise coins in the ratio 8:3:2 amounting to
Rs.148.5/-. Find the number of 25 paise coins.

Options:
1.« 90

> % 150
3 % 145
4 % 300

Question Number : 21 Question Id : 7368154869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

U dor F 50 UW, 25 9W 3R 10 U Fr ek 8:3:2 F U A g e
Fo AA Rs.148.5/- §| 25 U & [ I F&AT & Tar T

Options:

1 « 90
> % 150
= % 145
4 % 300

Question Number : 22 Question Id : 7368154870 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the average of 206.302.107.405.200.

Options:
; % 250

5> o 244
3 ® 245
4 ® 256

Question Number : 22 Question Id : 7368154870 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25

206, 302,107, 405, 200 Fr 3ir\a 79 F1I
Options:

% 250
. @ 244
- u 245
. % 256

Question Number : 23 Question Id : 7368154871 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The average of 12 quantities is 8. The average of three of them is 10. What is the average
of remaining quantities?

Options:
1 % 933

> o 7.33
= W 42
4 #® 30

Question Number : 23 Question Id : 7368154871 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
12 F&EIT3AT 1 |9 8 g1 390 ¥ dIF & Hiag 10 g1 9 §Est & Aag
FT 8?

Options:

1 % 9.33
> o 1.33
2 % 42
4 % 30

Question Number : 24 Question Id : 7368154872 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The average monthly income of P and Q is Rs.7000. The average monthly income of Q
and R is Rs.5500 and the average monthly income of P and R is Rs.5750. The monthly
income of Q is?

Options:
1 « Rs.6750

-~ % Rs.3500
= % Rs.3125
4 % Rs.4800



Question Number : 24 Question Id : 7368154872 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

P 3k Q #r 3itga A1f@s 317 . 7000 g1 Q 3x R #r 3itgg #f@s 3w <.
5500 3iT P 3T R #r 3itag &1fa= 3ma 5. 5750 &1 Q & =f@s 37 o=
27

Options:

, v . 6750
., % . 3500
. % % 3125
. % . 4800

\

Question Number : 25 Question Id : 7368154873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the amount at simple interest on Rs.3240 for 2 years 3 months at 5% per annum.

Options:
| « Rs.3604.5

> % Rs.3600.5
> % Rs.3800.5
4 % Rs.3900.5

Question Number : 25 Question Id : 7368154873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

5% STy 39 TUROT <31 T ST ¥ 2 3V 3 HalT H & 3240 &7 Tl &g &
FTTAT?

Options:

| v T. 3604.5
, % % 3600.5
. = % 3800.5
. % % 3900.5

e

Question Number : 26 Question Id : 7368154874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Simple interest on a certain sum 1s = of the sum. Find the time. if both time and rate
. =
percent are numerically equal.

Options:

1
' 15 years

11 TeArs
o ® 153 '



5 4 years

|
B |

1

‘ears

Question Number : 26 Question Id : 7368154874 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

s SfRaa ufRr 9v grawor sarer $r ofr s ofr wr L
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Options:

Question Number : 27 Question Id : 7368154875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Simple interest for a sum of Rs.4000 for 2 years is Rs.30 more than the simple interest for
Rs.3500 for the same duration. Find the rate of interest.
Options:
1 ® 20

=

B
[=h

- B 50
3 % 4%
4 3%

Question Number : 27 Question Id : 7368154875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

2 a9 & fAT T. 4000 FHr Tfer 93 yreg Fmor =@ 3@ 3Ef & v s
3500 & fow HTUReT SO @ g H T 30 O B SuTS @ & @ g
T
Options:
1_-‘@3 29"::-
2_&»& 50,-;0
3_&-& 4?"’0
3%

1o
'3



Question Number : 28 Question Id : 7368154876 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A watch costing Rs.1400 has been sold for Rs.1568. The percentage of profit was?

Options:
1 % 24%

5 % 15%
2 % 21%
4 o 12%

Question Number : 28 Question Id : 7368154876 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T. 1400 #7 ST T OEr H AT 1568 H =] oA FT giard haar ar?
Options:

| % 24%
> % 15%
2 % 21%
12%

S

4.

Question Number : 29 Question Id : 7368154877 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Suresh sells a washing machine for Rs.8000. He loses 75% in the bargain. What was the
price at which she bought it?

Options:
1 % Rs.52000

> % Rs.36000
5 « Rs.32000
4 % Rs.30500

Question Number : 29 Question Id : 7368154877 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T T. 8000 A Fu2 diet H FMT 9= 21 30 6 Hig # 75% F JHA
g3 34 ¢ g FHa W T €7

Options:

| % . 52000
. % ¥ 36000
- v . 32000
. % % 30500



Question Number : 30 Question Id : 7368154878 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Ramya bought an article for Rs.5736. Due to some defects in it. she had to pay Rs.266 to
the mechanic for its repair. Then, she sold it for Rs.5700. Find her loss percent.

Options:
1« 5.5%

%o

L)

o R

o D
L

t}

oy

3 ®

0y

L
.
s

4 2

Note: For thisquestion, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 30 Question Id : 7368154878 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T A % 5736 # U A WIS T FHH FS AW & & FNUT, 3HS SH
AT F [T HFfAe @ 5. 266 F oA fFRar R, 3w 3w % 5700 A
a7 33l 3/ gU FHA 9 A

Options:

, ¢ 5.5%

> % 6.6%

3 % 6.5%

4% 25%

Note: For thisquestion, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 31 Question Id : 7368154879 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
An item is sold at Rs.435 by allowing a discount of 13% on its marked price. The marked
price of the item is?

Options:
1 « Rs.500

~ % Rs.590
= % Rs.550
4 # Rs.650

Question Number : 31 Question Id : 7368154879 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T IE H 3HT Hlehd I FAT W 13% H < IHT T. 435 9T F=1 SA7AT
g1 FFg #r kg FAa e 22

Options:

. v . 500




. % ¥ 590
- % % 550
L % %. 650

Question Number : 32 Question Id : 7368154880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is a single discount equivalent to a discount series of 11% and 12%?

Options:
| % 24.5%

> o 21.68%
3 % 25%
4 % 26%

Question Number : 32 Question Id : 7368154880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
11% 3R 12% & T W & TWE Thel T fohelall &7

Options:

| % 24.5%
> ¢ 21.68%
2 % 25%

L % 26%

Question Number : 33 Question Id : 7368154881 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The marked price of a bicycle is Rs.2300. A shopkeeper allows a
discount of 15% and gets a profit of 15%. Find the cost price of
the bicycle.

Options:
1 ® Rs.850

-~ % Rs.1000
= « Rs.1700
4 % Rs.950

Question Number : 33 Question Id : 7368154881 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

U HISTeheT #T Hfehg &7 FHAT T. 2300 21 TH gFeeR 15% $r ge 3T &
AT 37 15% =T BT &1 FEfe & e FrEg 7T w1

Options:

, % . 850




. % % 1000
2« T 1700
L % % 950

Question Number : 34 Question Id : 7368154882 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Study the following table carefully and answer the questions that follow.
LITERACY RATE IN INDIA: 1951-2011

YEAR PERSONS MALES FEMALES | MALE-
FEMALE
GAP(in
literacy rate)
1951 18.33 21.16 8.86 18.30
1961 28.3 40.4 15.35 25.05
1971 34.45 45.96 21.97 23.08
1981 43.57 56.38 29.76 26.62
1991 52.2 64.13 39.29 24.84
2001 64.83 75.26 53.67 21359
2011 74.04 82.14 65.46 16.68

In which year the male-female gap in literacy rate is high?

Options:
1 % 2011

> % 1951
3 ® 1971
4 o 1981

Question Number : 34 Question Id : 7368154882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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1951 18.33 21.16 8.86 18.30

1961 28.3 40.4 15.35 25.05

1971 34.45 45.96 21.97 23.98

1981 43.57 56.38 29.76 26.62

1991 52.21 64.13 39.29 24.84

20071 64.83 75.26 53.67 21.59

2011 74.04 82.14 65.46 16.68

e a9 & T-R9 T AT & A Shrer HAR 82
Options:

% 2011
. % 1951
- % 1971
. v 1981

Question Number : 35 Question Id : 7368154883 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Study the following table carefully and answer the questions that follow.
LITERACY RATE IN INDIA: 1951-2011

YEAR PERSONS MALES FEMALES | MALE-
FEMALE
GAP(in
literacy rate)
1951 18.33 21.16 8.86 18.30
1961 28.3 40.4 15.35 25.05
1971 34.45 45.96 21.97 23.98
1981 43.57 56.38 29.76 26.62
1991 52.2 64.13 39.29 24.84
2001 64.83 75.26 53.67 21.59
2011 74.04 82.14 65.46 16.68

In which vear the male-female gap m literacy rate is low?

Options:



. #2811
> % 1961
3 # 1971
4 % 1991

Question Number : 35 Question Id : 7368154883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
= & TS Ao T e ¥ 3emya w1 3R ReaefEe e 1 s9w &
ST T |rear 23 1951-2011

I 2] GRS AfgeTT - A
Erry
(TTeTTaT &Y
)
1951 18.33 21.16 8.86 18.30
1961 28.3 40.4 15.35 25.05
1971 34.45 45.96 21.97 23.98
1981 4357 56.38 29.76 26.62
1991 52.21 64.13 39.29 24.84
20071 64.83 75.26 53.67 21.59
2011 74.04 82.14 65.46 16.68

fFE ¥ # TH- $T T & H FA JH 872
Options:

@ 2011
- % 1961
5 = 1971
. % 1991

Question Number : 36 Question Id : 7368154884 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Study the following table carefully and answer the questions that follow.
LITERACY RATE IN INDIA: 1951-2011

YEAR PERSONS MALES FEMALES | MALE-
FEMALE
GAP(in
literacy rate)
1951 18.33 21.16 3.80 18.30
1961 28.3 40.4 15.35 25.05
1971 34.45 45.96 21.97 23.98
1981 43.57 56.38 29.76 26.62
1991 52.2 64.13 39.29 24.84
2001 64.83 75.26 53.67 21.59
2011 74.04 32.14 65.46 16.68

In which year the female literacy rate is 29.76% ?

Options:
1 % 1951

> % 1991
5 & 1981
4 % 2001

Question Number : 36 Question Id : 7368154884 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A= & T2 Ao & T ¥ 3ewya 1 3 AeRf@a gare & saw 3
ST T HIEGAT &3 1951-2011

Iv =afaT G Aigame T H
T
(& aX
#)

1951 18.33 21.16 8.86 18.30

1961 28.3 40.4 1535 25.05

1971 34.45 45,96 21.97 23.98

1981 43.57 56.38 29.76 26.62

1991 52.21 64.13 39.29 24.84

2001 64.83 75.26 53.67 21.59

2011 74.04 82.14 65.46 16.68

T a¥ | Rigar F@rear 27 29.76% ofr?

Options:



| % 1951
. = 1991
2 1981
4, % 2001

Question Number : 37 Question Id : 7368154885 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Study the following table carefully and answer the questions that follow.
LITERACY RATE IN INDIA: 1951-2011

YEAR PERSONS MALES FEMALES | MALE-
FEMALE
GAP(in
literacy rate)
1951 18.33 21.16 8.86 18.30
1961 28.3 4104 15.35 25.05
1971 34.45 45.96 21.97 23.98
1981 43.57 56.38 29.76 26.62
1991 52.2 64.13 39.29 24.84
2001 64.83 75.26 53.67 21.59
2011 74.04 82.14 65.46 16.68

In which year the male literacy rate is high?

Options:
1 ® 1981

> % 2001
3 % 1991
i 2811

Question Number : 37 Question Id : 7368154885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



A &7 a5 Ao T ST W 3eOTS R AR FEAfe@a 39 F FJ99 &
R FI FERAr 23 1951-2011

I ZIE) G AfgemT - H
I
(TeTTaT &X
)

1951 18.33 21.16 8.86 18.30

1961 28.3 40.4 15.35 25.05

1971 34.45 45.96 21.97 23.98

1981 43.57 56.38 29.76 26.62

1991 52.21 64.13 39.29 24.84

20071 64.83 75.26 53.67 21.59

2011 74.04 82.14 65.46 16.68

fFe a% & qo9 WERAT & e 87

Options:

, % 1981
, % 2001
- = 1991
4 v 2011

Question Number : 38 Question Id : 7368154886 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Study the following table carefully and answer the questions that follow.
LITERACY RATE IN INDIA: 1951-2011

YEAR PERSONS MALES FEMALES | MALE-
FEMALE
GAP(in
literacy rate)
1951 18.33 21.16 8.86 18.30
1961 28.3 40.4 15.35 25.05
1971 34.45 45.96 21.97 23.98
1981 43.57 56.38 29.76 26.62
1991 52.2 64.13 39.29 24.84
2001 64.83 75.26 53.67 21.59
2011 74.04 82.14 65.46 16.68

In which vear the female literacy rate is low?

Options:



; % 2001
5 « 1951
3 % 2011
4 % 1991

Question Number : 38 Question Id : 7368154886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A &7 75 Ao & SO | 3eOdd R AR FEAfe@d T9re F F99 &

T Fr Frear 27 1951-2011

Iy afag GRS Hfgamo T H
HT
(|TETTET 2T
#)
1951 18.33 21.16 8.86 18.30
1961 28.3 40.4 1535 25.05
1971 34.45 45.96 21.97 23.98
1981 43.57 56.38 29.76 26.62
1991 52.21 64.13 39.29 24.84
2001 64.83 75.26 53.67 21.59
2011 74.04 82.14 65.46 16.68

&g I # Afeor gear X F7 87
Options:

. % 2001
- v 1951
2 = 2011
L = 1991

Question Number : 39 Question Id : 7368154887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25
i
The area of a square field is 7 hectare. Find the length of its diagonal in metres.

Options:
1 % 150 mts

o % 150 ~2 mts



z % 140 mts

4 « 100 mts

Question Number : 39 Question Id : 7368154887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
T gl =us Aot &

U TR BT &1 &6 %
aTE Hler # AT F
Options:

, % 150 #ART
> % 15042 #rex
- % 140 AT
4 v 100 AT

Question Number : 40 Question Id : 7368154888 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The area of an equilateral triangle is 43em . Find the length of its side.

Options:
1 & dem

> % 4.5cm
= # 445om
4 ® 4235com

Question Number : 40 Question Id : 7368154888 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
U FHAS TXRIOT F &R 443 T AAL F1 FHR g T T3 maedr 27

Options:

| o 4 [

> % 4.5 T.HAL
5 % 4.45 AL
4 % 4.25 Q.HL

Question Number : 41 Question Id : 7368154889 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The diameter of the wheel of a car i3 35cm. How many revolutions will it make to travel
5.5km?

Options:

1 % 4000



5 % 6000
5 % 6500
4 « 5000

Question Number : 41 Question Id : 7368154889 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

U FR F IET F O™ 35 AT §| Fad 9% F 3 5.5 A e
FLEM?

Options:

. % 4000
. % 6000
- % 6500
. « 5000

Question Number : 42 Question Id : 7368154890 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A car travels 730 km in 13 hours and another 370 ki in 9hours. Find the average speed of
the car.

Options:

1 % 52km/h

> % 47km/h

= « S0km/h

4 % 48km/h

Question Number : 42 Question Id : 7368154890 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

THFFR I3 T H 730 FA e Far g 3T smr 9 e # 370 &#A. 7
FIAT g1 T Fr Fga TS FT I97 F0

Options:

, = 52 TR EE
. » 47 TFRAE.EE
- v 50 T ae
4 » 48 TFAEE

Question Number : 43 Question Id : 7368154891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A vehicle travels at 90kmm/h. How many meters will it travel in 10 minutes?

Options:



1 % 22000mts
o> #% 24000mts
= o 15000mts
4 % 20000mts

Question Number : 43 Question Id : 7368154891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

U g 90 . /mer Fr af & T Fear g, ar I8 10 T # Faw J#ew
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Options:

. % 22000 #Hex
, % 24000 Frex
. « 15000 #Hrex
, % 20000 #FHrex

Question Number : 44 Question Id : 7368154892 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Prakash can cover a certain distance in 1hr 15min by covering two-third of the distance at
4kmph and the rest at Skmph. Find the total distance.

Options:
1 ® 5.25km

> % 5.1km
3 % 5.53km
4 « 5.35km

Question Number : 44 Question Id : 7368154892 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

gl U AT g 1 wer 15 Bee # qff v wwar ¥ Owd v e 4
frafmer & 7fa ¥ 3k 9w 5 R /ger Ga 97 FX G B T g
94T ST

Options:

. u 525 fuat

. = 553 B

. v 5.35 AT

Question Number : 45 Question Id : 7368154893 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25

Radha takes 50 minutes to reach school from home. Ananya takes 40 minutes to cover the
same distance. Find the ratio of time taken by Radha to the time taken by Ananya.

Options:

1 54
> % 45
= % 34
4 ® 5:3

Question Number : 45 Question Id : 7368154893 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T X H THA a9 Tgaa & fow 50 fAae o 71 serear ga & g 77
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Options:
1« 54
- % 45
2 # 34
g » B3

Question Number : 46 Question Id : 7368154894 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Sruthi works in office for 6 hours and Komal works for 7Thours 5SOminutes in her office.
Find the ratio of their working hours.

Options:
1 36:47

> % 32:45
5 % 1517
4 % 16:17

Question Number : 46 Question Id : 7368154894 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ﬂﬁfmﬁﬁﬁ%ﬁﬂﬁﬁ 9 FEAET & 7 O¢ 50 e 17 37 7
3% FIH F U &F HeJIId FT TaT T

Options:

| v 36:47
o % 32:45
2 % 15:17



L % 16:17

Question Number : 47 Question Id : 7368154895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The ratio of times taken by A and B to finish a piece of work is 1:4. If A completes the
work i 15days. then find the time talken by B to complete the work.

Options:
, % 15days

5 w 45days

o  00days

4 = SB8days

Question Number : 47 Question Id : 7368154895 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Teh HH F A HA & ¢ A A B @0 B 717 877 &7 39T 1:4 2
e A 38 F1H & 15 R & 90 T Far & @ B & Ig FH I F H
foraer fear e

Options:

, » 15 fe=1
2. % 45 fet
5 v 60 fea
4 = 58 fe=

Question Number : 48 Question Id : 7368154896 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Krupa can do a work in 5 days and Kumari is 20% more expert than Krupa to complete the
same work. then find the fotal time taken to complete the work by Kumari.

Options:

i 5% days

¥
- days
o ® 8

= 4 days
4 ® 6days

Question Number : 48 Question Id : 7368154896 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

y
5=
1 ® 2

&=

Question Number : 49 Question Id : 7368154897 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If A can do a piece of work in 3days. B can do the same in 4days and C can do the same
work in 8days. then working together. how many days will they take to complete the
work?
Options:

Z
2— davys
1 B 11 )

> % 9days
1
- 25 days

&
. | 25 days

4 &

Question Number : 49 Question Id : 7368154897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A, 3 g & U FH & G F THA ¢, I B 30 FH # 4 e # 3w C,
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Options:

2
1. % 2ﬁﬁ?
2 fot
[
1= o=

4

Question Number : 50 Question Id : 7368154898 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



30 men can complete a work in 15 days. 5 days after they started working. 20 more men
joined them. How many days will they now take to complete the remaining work?

Options:
| « 6days

_— 6% days

z # Tdays

o8 Sida}rs

Question Number : 50 Question Id : 7368154898 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
30 T¥W 15 o=l F U F1H & T FT Wbl &1 37 AT FIH Y FA & 5
feer a1g, 20 3 39 37 ofAT B 0| 3T AW FH qU F A 3% FaA
feq wemEr?
Options:
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Read the passage given below and answer the questions given under it:

Writing is not the only way to produce written texts. Until recently, many rich or powerful
people would dictate to a secretary rather than write themselves. Some literary and
historical works, such as Milton’s Paradise Lost. were dictated. Dictating may be
advantageous for reasons of speed, or it may be a matter of necessity as in the case of the
older Milton, who had lost his sight. Still. if given the choice. most of us would rather
write than dictate. The main reason is that when you dictate you have much less control
over your text than when you write. In any case. traditional dictation was a form of
division of labor between employer and employee. not a way of rendering writing
altogether unfashionable. Now, however. the new information technologies the division of
labor will be between people and machines.

At present. in 1984, speech recognition software provides speech-to-text conversion. One
can read to a computer in natural continuous speech at a conversational pace and see one’s
words appear on the screen. In a matter of years, it will be possible to speak normally and
have the machine transcribe one’s speech with very few errors while distinguishing,. in the
flow of speech. between mstructions — e.g. “underline!” — to be obeyed from *‘underline’ to
be transcribed. Soon natural language oral interactions with machines will become the
norm rather than the exception.

Sub questions

Question Number : 51 Question Id : 7368154900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘Which will be the most suitable title for the passage?
Options:

1 Speak to Machines?

5 % Dictate, Don’t Write?

= % How are we better off than Milton?

4 % The Dawn of New Writing

Question Number : 52 Question Id : 7368154901 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The passage

Options:

, » Compares between milton and us, at the present times

o  Describes the past and peeps into the future vis-a-vis writing
- » Discusses the older and the newer ways of writing

4 % Contrasts the functions of a secretary and a machine

Question Number : 53 Question Id : 7368154902 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Writing today. the writer would not prefer to
Options:

, % Useacomputer keyboad



5 of Employ a secretary
- % Wwrite things down himself

4 % Readtoa computer

Question Number : 54 Question Id : 7368154903 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A computer is likely to confuse between “Underline™ as a piece of instruction and
‘underline’ as a piece of the continuous text dictated to it as
Options:
. % We fail to use different tones or differing pitches

-  ltneeds a separate program to ‘understand’ the difference

- » Double quotes (**) and single (*) quotes. besides capitalization. will not be dictated

4 % Wedon't have a ‘natural machine language’ with *instruction-words’

Question Number : 55 Question Id : 7368154904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

According to the writer, dictating

Options:

, w» Enables faster text production. as we can speak faster than writing

- % Frees the writer from the burden of ‘physical labour
- » DBecomes necessary if you are blind and possible. if you rich enough to employ a secretary

4 « Belongs to the past. reading to the machine. to the present

Question Number : 56 Question Id : 7368154905 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Rich or powerful people would dictate to a secretary rather than write themselves as
Options:

, % Writing was slave labour

- % Writing was unfashionable

5 % They could afford secretaries

4  Noteveryone knew how to write

Question Number : 57 Question Id : 7368154906 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The passage begins by saying. “Writing is not the only way to produce written texts.” Here
the writer is

Options:

, % Making an assumption

5 of Making a declaration

- % Stating a position



, % Initiating a discussion

Question Number : 58 Question Id : 7368154907 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

According to the writer, we have much less control over the “text’ produced when
Options:

1 % We write ourselves

>  We dictate to a secretary
5 % We ‘speak’ to a machine

4 % Weuse 1984-style computers

Question Number : 59 Question Id : 7368154908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In the sentence, “Writing is not the only way to produce written texts’. the word
‘produce’ is used as
Options:
, % Writing is thought of as a factory

- % Writing is regarded as a farm
5 % Writing is looked upon as output

4  Writing is not ‘creating” a text

Question Number : 60 Question Id : 7368154909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If the word ‘superscribe’ means write at the top of an envelope or a document. ‘transcribe’
means
Options:
, = Copy from one source to another

-  Change from one language to another

5 % Wwrite what others speak

, % Transport ideas from an author to a sheet of paper

Question Id : 7368154899 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (51 to 60)
Cuestion Label © Comprehension



Read the passage given below and answer the questions given under it:

Writing is not the only way to produce written texts. Until recently, many rich or powerful
people would dictate to a secretary rather than write themselves. Some literary and
historical works, such as Milton’s Paradise Lost. were dictated. Dictating may be
advantageous for reasons of speed, or it may be a matter of necessity as in the case of the
older Milton, who had lost his sight. Still. if given the choice. most of us would rather
write than dictate. The main reason is that when you dictate you have much less control
over your text than when you write. In any case. traditional dictation was a form of
division of labor between employer and employee. not a way of rendering writing
altogether unfashionable. Now, however. the new information technologies the division of
labor will be between people and machines.

At present. in 1984, speech recognition software provides speech-to-text conversion. One
can read to a computer in natural continuous speech at a conversational pace and see one’s
words appear on the screen. In a matter of years, it will be possible to speak normally and
have the machine transcribe one’s speech with very few errors while distinguishing,. in the
flow of speech. between mstructions — e.g. “underline!” — to be obeyed from *‘underline’ to
be transcribed. Soon natural language oral interactions with machines will become the
norm rather than the exception.

Sub questions

Question Number : 51 Question Id : 7368154900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘Which will be the most suitable title for the passage?
Options:

1 Speak to Machines?

5 % Dictate, Don’t Write?

= % How are we better off than Milton?

4 % The Dawn of New Writing

Question Number : 52 Question Id : 7368154901 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The passage

Options:

, » Compares between milton and us, at the present times

o  Describes the past and peeps into the future vis-a-vis writing
- » Discusses the older and the newer ways of writing

4 % Contrasts the functions of a secretary and a machine

Question Number : 53 Question Id : 7368154902 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Writing today. the writer would not prefer to
Options:

, % Useacomputer keyboad



5 of Employ a secretary
- % Wwrite things down himself

4 % Readtoa computer

Question Number : 54 Question Id : 7368154903 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A computer is likely to confuse between “Underline™ as a piece of instruction and
‘underline’ as a piece of the continuous text dictated to it as
Options:
. % We fail to use different tones or differing pitches

-  ltneeds a separate program to ‘understand’ the difference

- » Double quotes (**) and single (*) quotes. besides capitalization. will not be dictated

4 % Wedon't have a ‘natural machine language’ with *instruction-words’

Question Number : 55 Question Id : 7368154904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

According to the writer, dictating

Options:

, w» Enables faster text production. as we can speak faster than writing

- % Frees the writer from the burden of ‘physical labour
- » DBecomes necessary if you are blind and possible. if you rich enough to employ a secretary

4 « Belongs to the past. reading to the machine. to the present

Question Number : 56 Question Id : 7368154905 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Rich or powerful people would dictate to a secretary rather than write themselves as
Options:

, % Writing was slave labour

- % Writing was unfashionable

5 % They could afford secretaries

4  Noteveryone knew how to write

Question Number : 57 Question Id : 7368154906 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The passage begins by saying. “Writing is not the only way to produce written texts.” Here
the writer is

Options:

, % Making an assumption

5 of Making a declaration

- % Stating a position



, % Initiating a discussion

Question Number : 58 Question Id : 7368154907 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

According to the writer, we have much less control over the “text’ produced when
Options:

1 % We write ourselves

>  We dictate to a secretary
5 % We ‘speak’ to a machine

4 % Weuse 1984-style computers

Question Number : 59 Question Id : 7368154908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In the sentence, “Writing is not the only way to produce written texts’. the word
‘produce’ is used as
Options:
, % Writing is thought of as a factory

- % Writing is regarded as a farm
5 % Writing is looked upon as output
4  Writing is not ‘creating” a text

Question Number : 60 Question Id : 7368154909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If the word ‘superscribe’ means write at the top of an envelope or a document. ‘transcribe’
means

Options:
1 ® Copy from one source to another

-  Change from one language to another

5 % Wwrite what others speak

, % Transport ideas from an author to a sheet of paper

Sub-Section Number: 2
Sub-Section Id: 736815145
Question Shuffling Allowed : No

Question Id : 7368154910 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (61to 70)
Cuestion Label © Comprehension



Given below is a passage with ten blanks. numbered from 11 to 20. Fill in the blanks by
choosing the correct option given against the corresponding Question number:

The printing press with movable type was. all things considered. a good thing. that is to

say. a humane (11) in the history of communication. But people did not agree
about that in the early days of ifs (12). especially because of the role it

(13) in the breakup of the Holy Roman Church. The press (14) the
Word of God on every Christian’s kitchen table. That being the case. who (15)
Popes and priests to interpret it? This is why Martin Luther said of the (16)
press that it was “God’s highest grace by which the gospel is driven (i7" 11
would have been difficult to find. in the 16th (18). any devoted member of the
Church to (19) with that judgment. In thinking about the (20) of new

media and advances in the media from a humanistic peint of view. one must take into
account the obvious fact that people will have different ideas about what is good for them
and bad for them.

Sub questions

Question Number : 61 Question Id : 7368154911 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:

Options:

, w chapter

o o €ra

5 % thing

4 % advance

Question Number : 62 Question Id : 7368154912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:

Options:

1 « birth

- % invention
= # advent

4, w discovery

Question Number : 63 Question Id : 7368154913 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the corresponding Question
number:;

Options:
, « Played

- % provided

5 % portrayed



4 % prevailed

Question Number : 64 Question Id : 7368154914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:

Options:

1 ® Gave

> % Gifted

z % Removed

4« but

Question Number : 65 Question Id : 7368154915 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:

Options:

, % requests

> o needs

5 ® sees

4 % hears

Question Number : 66 Question Id : 7368154916 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:

Options:

1 % modern

5 % simple

o  printing

4 % Bible

Question Number : 67 Question Id : 7368154917 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:

Options:

1 « forward

> % toward

- % upward

4 % backward

Question Number : 68 Question Id : 7368154918 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Fill in the blanks by choosing the correct option given against the corresponding Question
number:

Options:
1 % decade

> % year

3 o cenfy

4 % month

Question Number : 69 Question Id : 7368154919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:

Options:

| « disagree

- % agree

5 w oObey

4 % listen

Question Number : 70 Question Id : 7368154920 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:

Options:
1 « advent
> % popularity

5 u discovery

4 % Invention

Question Id : 7368154910 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (61 to 70)
Cuesticon Label | Comprehension



Given below is a passage with ten blanks, numbered from 11 to 20. Fill in the blanks
by choosing the correct option given against the corresponding Question number;

The printing press with movable type was, all things considered, a good thing, that is

to say, a humane (11) in the history of communication. But people did not

agree about that in the early days of iis (12), especially because of the

role it {13) in the breakup of the Holy Roman Church. The press

(14) the Word of God on every Christian's kitchen table. That being the case, who
(15) Popes and priests to interpret it? This is why Martin Luther said of the

(16) press that it was “God's highest grace by which the gospel Is

driven (17)." It would have been difficult to find, in the 16th (18),
any devoted member of the Church to (19) with that judgment. In thinking
about the (20) of new media and advances in the media from a humanistic

point of view, one must take into account the obvious fact that people will have
different ideas about what i1s good for them and bad for them.

Sub questions

Question Number : 61 Question Id : 7368154911 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:

Options:

, % chapter

5 o era

5 % thing

4 % advance

Question Number : 62 Question Id : 7368154912 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the corresponding Question

number:
Options:

1 « birth

> % invention
=z % advent

4 % discovery

Question Number : 63 Question Id : 7368154913 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:;

Options:

1 played

> % provided
- % portrayed

4, % prevailed



Question Number : 64 Question Id : 7368154914 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:

Options:

1 ® Gave

> % Gifted

=z % Removed

4 but

Question Number : 65 Question Id : 7368154915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:

Options:
1 % requests

> o needs
5 # sees

4 % hears

Question Number : 66 Question Id : 7368154916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:;

Options:

1 % modern

- x simple

5 o printing

4 % Bible

Question Number : 67 Question Id : 7368154917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:

Options:
1« forward

- % toward
- % upward

4 % backward

Question Number : 68 Question Id : 7368154918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Fill in the blanks by choosing the correct option given against the corresponding Question
number:

Options:

1 % decade

> % year

3 o cenfy

4 % month

Question Number : 69 Question Id : 7368154919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:

Options:

| « disagree

- % agree

5 w oObey

4 % listen

Question Number : 70 Question Id : 7368154920 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:

Options:

1 « advent

> % popularity
5 u discovery

4 % Invention

Sub-Section Number: 3
Sub-Section Id: 736815146
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 7368154921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Given below is a set of five sentences, numbered 1 to 5, which are not in a meaningful
order. Choose from the options given, the order which will be acceptable and meaningful:

1. But this is not true as the differences between science and religion are deep.
endemic. and unlikely to be resolved.
2. The battle between science and religion is regularly declared over. ended with an
amicable truce.
3. They are both m the business of determining what is true in the universe.
4. It’ll be better for either to stay in their own worlds: science with the natural world:
religion with meaning. morals. and values.
5. Basically it is a conflict is one between faith and fact. or a battle between rationality
and superstition.
Options:
;= 54321

, % 13542
2 o 21354

4 % 23154

Question Number : 71 Question Id : 7368154921 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is a set of five sentences, numbered 1 to 5. which are not in a meaningful
order. Choose from the options given. the order which will be acceptable and meaningful:

1. But this is not true as the differences between science and religion are deep.
endemic. and unlikely to be resolved.
2. The battle between science and religion is regularly declared over. ended with an
amicable truce.
3. They are both i the business of determining what is true in the universe.
4. It’ll be better for either to stay in their own worlds: science with the natural world:
religion with meaning. morals. and values.
5. Basically it is a conflict is one between faith and fact. or a battle between rationality
and superstition.
Options:
;= 343,24

> » 130542
2 @ 2.1.354

L % 23,154

Question Number : 72 Question Id : 7368154922 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Given below is a set of five sentences, numbered 1 to 5, which are not in a meaningful
order. Choose from the options given, the order which will be acceptable and meaningful:

1. However, the capacity to humanize animals has the potential to complicate the legal
definifion of being human.

2. Or, should it be neurophysiologic or neurogenetic because it is inextricably linked to
the brain?

3. Human intelligence, which differentiates Homo sapiens from all other living things.
1s difficult to define.

4. For example. a court recently decreed orangutans in zoos have basic legal/human
rights and deserve living quarters.

5. Should the definition of human or humanlike intelligence be psychometric. based on
a constellation of cognitive processes?

Options:
, W 35214

, % 3.4.5.2,1

;% 142,13

4 % 34512

Question Number : 72 Question Id : 7368154922 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a set of five sentences, numbered 1 to 5. which are not in a meaningful
order. Choose from the options given. the order which will be acceptable and meaningful:

1. However. the capacity to humanize animals has the potential to complicate the legal
definifion of being human.

2. Or, should it be neurophysiologic or neurogenetic because it is inextricably linked to

the brain?

Human intelligence. which differentiates Homo sapiens from all other living things.

is difficult to define.

4. For example. a court recently decreed orangutans in zoos have basic legal/human
rights and deserve living quarters.

5. Should the definition of human or humanlike intelligence be psychometric. based on
a constellation of cognitive processes?

L]

Options:
| o 352,14

o % FA521
; x 14213

4 34512

Question Number : 73 Question Id : 7368154923 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Given below is a set of five sentences, numbered 1 to 5, which are not in a meaningful
order. Choose from the options given, the order which will be acceptable and meaningful:

e

“That’s a new wrinkle in what Mother Nature has to offer us.” says the director of

the Guinea Worm Eradication Program.

2. Traditionally, humans have contracted the disease by ingesting water contaminated
by parasite-infected copepods.

3. But recent cases of guinea worm disease in dogs. which likely contract the parasite
by eating the scraps of infected fish have left researchers worried.

4. A better understanding of pathogen transmission may be even more critical in

supporting the world’s ongoing eradication campaign: the abolishment of guinea

worm disease.

Simply ensuring that affected regions have access to clean drinking water has

succeeded in reducing cases of the disease from more than 3.5 million in 1986 to

just 126 last year.

L

Options:
. % 45231

, % 4,253.1
2 % 432,15

4 o 41235

Question Number : 73 Question Id : 7368154923 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is a set of five sentences, numbered 1 to 5. which are not in a meaningful
order. Choose from the options given. the order which will be acceptable and meaningful:

—

“That’s a new wrinkle in what Mother Nature has to offer us.” says the director of

the Guinea Worm Eradication Program.

2. Traditionally. humans have contracted the disease by ingesting water contaminated
by parasite-infected copepods.

3. But recent cases of guinea worm disease in dogs. which likely contract the parasite
by eating the scraps of infected fish have left researchers worried.

4. A better understanding of pathogen transmission may be even more critical in

supporting the world’s ongoing eradication campaign: the abolishment of guinea

worm disease.

Simply ensuring that affected regions have access to clean drinking water has

succeeded in reducing cases of the disease from more than 3.5 million in 1986 to

just 126 last vear.

th

Options:
| % 4.5.23.1

> x 4253,
5 & 4.3.2,15

4o 41235



Question Number : 74 Question Id : 7368154924 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is famous saying. the words of which have been jumbled up and numbered.
Choose the right order from the given options:

rises to / his / incompetence/ level of/ evervone/
1 2 3 4 ~

Options:
. WA S12A3

> % 54231
o 1352

o8 2ABLS

Question Number : 74 Question Id : 7368154924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is famous saying. the words of which have been jumbled up and numbered.
Choose the right order from the given options:

rises to / his / incompetence/ level of/ evervone/
1 2 3 4 =

Options:
L W 51243

, % 5.4.23,1
=6 13542

4 % 24315

Question Number : 75 Question Id : 7368154925 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is famous saying. the words of which have been jumbled up and numbered.
Choose the right order from the given options:

the darkest/ the dawn/ always/it is/ before/
1 2 3 4 5

Options:

1 % 34.3.2.1

o % LEZAS
o o 431,52
4% 43251

Question Number : 75 Question Id : 7368154925 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Given below is famous saying. the words of which have been jumbled up and numbered.
Choose the right order from the given options:

the darkest/ the dawn/ always/it is/ before/
1 2 3 4 5

Options:

1 % 343,21

oo LEZAS
o o 431,52

4 % 43251

Question Number : 76 Question Id : 7368154926 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is an ungrammatical. defective. sentence and there are 4 options given. One
of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

Fool and his money is easy parted.

Options:

,  Afooland his money are easily parted.
- % A fooland his money is easily parted

- » Afool and money are easily parted.

4 % Fooland his money are easily parted.

Question Number : 76 Question Id : 7368154926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is an ungrammatical. defective, sentence and there are 4 options given. One
of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

Fool and his money is easy parted.
Options:
, « A tooland his money are easily parted.

> % A fooland his money is easily parted
- % A fool and money are easily parted.

, » Fooland his money are easily parted.

Question Number : 77 Question Id : 7368154927 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Given below is an ungrammatical. defective, sentence and there are 4 options given. One
of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

Trust is like mirror, once its broken its never same

Options:

, w Trust is like a mirror, once its broken its never the same.
o « Trust is like a mirror, once it’s broken it’s never the same.

5 % Trust is like mirror, once it’s broken it’s never same.

4 % Trustis like a mirror, once it’s broken it’s ever the same.

Question Number : 77 Question Id : 7368154927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Given below is an ungrammatical. defective, sentence and there are 4 options given. One
of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

Trust is like mirror, once its broken its never same

Options:

, % Trustis like a mirror. once its broken its never the same.
>  Trust is like a mirror, once it’s broken it’s never the same.

5 % Trust is like mirror, once it’s broken it’s never same.

4 % Trust is like a mirror, once it’s broken it’s ever the same.

Question Number : 78 Question Id : 7368154928 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is an ungrammatical. defective, sentence and there are 4 options given. One
of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

It will take you a month of Sunday to got through all the revision.
Options:
, + It will take you a month of Sundays to get through all the revisions.

- % It will take you a month of Sunday to get through all the revisions.
- » It will take you a month of Sundays to get through all the revision.

4 % Itwill take you a month of Sundays to getting through all the revisions.

Question Number : 78 Question Id : 7368154928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Given below is an ungrammatical. defective, sentence and there are 4 options given. One
of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

It will take vou a month of Sunday to got through all the revision.
Options:
, + Itwill take you a month of Sundays to get through all the revisions.

> % It will take you a month of Sunday to get through all the revisions.

- % It will take you a month of Sundays to get through all the revision.

4, = Itwill take you a month of Sundays to getting through all the revisions.

Question Number : 79 Question Id : 7368154929 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an ungrammatical. defective, sentence and there are 4 options given. One
of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

An ideal mind is the devil workshop, and idle hands his tool.
Options:
, % Anidle mind is the devil workshop. and idle hands his tools.

- % Anidol mind is the devil's workshop. and idle hands his tools.
-  Anidle mind is the devil's workshop. and idle hands his tools.

4 % Anidle mind is the devil's workshop. and idle hands his tool.

Question Number : 79 Question Id : 7368154929 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an ungrammatical. defective. sentence and there are 4 options given. One
of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

An ideal mind is the devil workshop, and idle hands his tool.
Options:
, w Anidle mind is the devil workshop. and idle hands his tools.

> % Anidol mind is the devil's workshop. and idle hands his tools.

5  Anidle mind is the devil's workshop. and idle hands his tools.

, % Anidle mind is the devil's workshop. and idle hands his tool.

Question Number : 80 Question Id : 7368154930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Given below is an ungrammatical. defective, sentence and there are 4 options given. One
of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

To apologize is to lie the foundation for future offence.
Options:
, = Toapologize is to lie the foundation for a future offense.

- % 1o apologize is to lay the foundation for future offense.

- % To apologize is to lain the foundation for a future offense.

4 & 10 apologize is to lay the foundation for a future offense.

Question Number : 80 Question Id : 7368154930 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is an ungrammatical. defective, sentence and there are 4 options given. One
of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

To apologize is to lie the foundation for future offence.
Options:
, % Toapologize is to lie the foundation for a future offense.

-~ % To apologize is to lay the foundation for future offense.
- % 10 apologize is to lain the foundation for a future offense.

4 10 apologize is to lay the foundation for a future offense.

Question Number : 81 Question Id : 7368154931 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is a sentence which is to be transformed and rewritten as indicated in
brackets and there are four options given. Choose the one which ‘correctly’ transforms the
given sentence :

He is giving him a couple of books to read. {into Passive]}
Options:
, % Acouple of boos to read is given by him.

> % A couple of books to read are given by him
- A couple of books to read are being given by him.

, % A couple of books to read is being given by him.

Question Number : 81 Question Id : 7368154931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Given below is a sentence which is to be transformed and rewritten as indicated in

brackets and there are four options given. Choose the one which ‘correctly’ transforms the
given sentence :

He is giving him a couple of books to read. {into Passive;}
Options:
, = A couple of boos to read is given by him.

> % A couple of books to read are given by him
- A couple of books to read are being given by him.

4 % A couple of books to read is being given by him.

Question Number : 82 Question Id : 7368154932 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is a sentence which is to be transformed and rewritten as indicated in

brackets and there are four options given. Choose the one which ‘correctly’ transforms the
given sentence :

Won’t he ever change and realize his mistakes to reform himself?
{Change into and rewrite this question as a conditional, keeping the tenor!}

Options:
, % Ifherealizes his mistakes to reform himself. he will change.

- % He will change and realize his mistakes to reform himself.
= % When he realizes his mistakes to reform himself. he will change.

4  Were he to realize his mistakes to reform himself, he would change

Question Number : 82 Question Id : 7368154932 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is a sentence which is to be transformed and rewritten as indicated in

brackets and there are four options given. Choose the one which ‘correctly’ transforms the
given sentence :

Won’t he ever change and realize his mistakes to reform himself?

{Change into and rewrite this question as a conditional, keeping the tenor!}
Options:
, % Ifherealizes his mistakes to reform himself. he will change.

> % He will change and realize his mistakes to reform himself.
- % When he realizes his mistakes to reform himself, he will change.

4  Were he to realize his mistakes to reform himself. he would change

Question Number : 83 Question Id : 7368154933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
Given below is a sentence which is to be transformed and rewritten as indicated in
brackets and there are four options given. Choose the one which ‘correctly’ transforms the
given sentence :

*Show him no mercy, for he is a criminal,” the lawyer said, and continued “Let him
off and he will kill more.” {Into reported speech}

Options:
The lawyer pleaded that the criminal be shown no mercy as he is a criminal and added that

.  hewould kill more [people] if he is let off.

The lawyer cautioned that the criminal be shown no mercy as he is a criminal and added
- « that he would kill more [people] if he is let off.

The lawyer claimed that the criminal be shown no mercy as he is a criminal and added that
5 » he would kill more [people] if he is let off.

The lawyer argued that the criminal be shown no mercy as he is a criminal and added that
4, % hewould kill more [people] if he is let off.

Question Number : 83 Question Id : 7368154933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence which is to be transformed and rewritten as indicated in
brackets and there are four options given. Choose the one which ‘correctly’ transforms the
given sentence :

“Show him no mercy, for he is a criminal,” the lawver said, and continued “Let him
off and he will kill more.” {Into reported speech}
Options:
The lawyer pleaded that the criminal be shown no mercy as he is a criminal and added that
; % hewould kill more [people] if he is let off.

The lawver cautioned that the criminal be shown no mercy as he is a criminal and added
-  that he would kill more [people] if he is let off.

The lawyer claimed that the criminal be shown no mercy as he is a criminal and added that
- % he would kill more [people] if he is let off.

The lawyer argued that the criminal be shown no mercy as he is a criminal and added that
4 % he would kill more [people] if he is let off.

Question Number : 84 Question Id : 7368154934 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Read the sentence given below. Pay attention to the words/phrases/segments in ifalics.
Choose the appropriate ONE WORD substitutes for the phrases and clauses italicized:

Last night his aunt passed out on hearing that his uncle had passed away.

Options:



, % Lastnight his aunt cried on hearing that his uncle had eloped.

-  Last night his aunt fainted on hearing that his uncle had died.
- % Lastnight his aunt fainted on hearing that his uncle had moved on.

, % Lastnight his aunt became unconscious on hearing that his uncle had passed away.

Question Number : 84 Question Id : 7368154934 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Read the sentence given below. Pay attention to the words/phrases/segments in ifalics.
Choose the appropriate ONE WORD substitutes for the phrases and clauses ifalicized:

Last night his aunt passed out on hearing that his uncle had passed away.
Options:

, % Last night his aunt cried on hearing that his uncle had eloped.

-  Last night his aunt fainted on hearing that his uncle had died.

- % Lastnight his aunt fainted on hearing that his uncle had moved on.

, % Lastnight his aunt became unconscious on hearing that his uncle had passed away.

Question Number : 85 Question Id : 7368154935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Read the sentence given below. Pay attention to the words/phrases/segments in ifalics.
Choose the appropriate ONE WORD substitutes for the phrases and clauses italicized:

John was faken in by her charm and allowed her fo fake his laptop apart.
Options:
, % Johnwas deceived by her charm and allowed her to disassemble laptop.

> % John was impressed by her charm and allowed her to destroy laptop.

5 % John was vowed by her charm and allowed her to take his laptop.

4  John was swallowed by her charm and allowed her to disassemble his laptop.

Question Number : 85 Question Id : 7368154935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Read the sentence given below. Pay attention to the words/phrases/segments in ifalics.
Choose the appropriate ONE WORD substitutes for the phrases and clauses italicized:

John was faken in by her charm and allowed her fo fake his laptop apart.
Options:
, % Johnwas deceived by her charm and allowed her to disassemble laptop.

- % John was impressed by her charm and allowed her to destroy laptop.



5 % John was vowed by her charm and allowed her to take his laptop.

4  John was swallowed by her charm and allowed her to disassemble his laptop.

Question Number : 86 Question Id : 7368154936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which divided into four parts labelled a, b. c. and d. One of
these parts contains an error. Choose the part that has the error:

He was not happy / with her behavior: / or was she /with his aggression.
A B C D

Options:

1 ® A

o W B

3¢ C
4.WD

Question Number : 86 Question Id : 7368154936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence which divided into four parts labelled a. b. c. and d. One of
these parts contains an error. Choose the part that has the error:

He was not happy / with her behavior: / or was she /with his aggression.
A B & D

Options:

1. % A

E_WB
3. ¢ C
4 % D

Question Number : 87 Question Id : 7368154937 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which divided into four parts labelled a. b. ¢. and d. One of
these parts contains an error. Choose the part that has the error:

When his car / broke down, / he reached home / by foot.
A B C D

Options:
1 & A

E_QB
3. % C

4.+ D



Question Number : 87 Question Id : 7368154937 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which divided into four parts labelled a. b. c. and d. One of
these parts contains an error. Choose the part that has the error:

When his car / broke down, / he reached home / by foot.
A B C D

Options:
1 & A

o W B
T W C
4« D

Question Number : 88 Question Id : 7368154938 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence which divided into four parts labelled a. b. ¢. and d. One of
these parts contains an error. Choose the part that has the error:

Indisputably, / a wife is always right/ eventual /wins an argument.
A B C D

Options:

1 ® A

o W B

3¢ C
4. % D

Question Number : 88 Question Id : 7368154938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which divided into four parts labelled a, b. c. and d. One of
these parts contains an error. Choose the part that has the error:

Indisputably, / a wife is always right/ eventual /wins an argument.
A B C D

Options:

1 ® A

o W B
2 ¢ C
E D

Question Number : 89 Question Id : 7368154939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Fill in the blanks with the correct form of idioms /proverbs by choosing the correct option
given.

My mother alwavs to help people.

Options:
, « does: go the extra mile

» % Would: went the extra mile
5 % Will; go the extra mile

4 % is: gone the extra mile

Question Number : 89 Question Id : 7368154939 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fill in the blanks with the correct form of idioms /proverbs by choosing the correct option
given.

My mother alwayvs to help people.

Options:
, « does: go the extra mile

5 % would; went the extra mile
5 » Will; go the extra mile

4, % 1s: gone the extra mile

Question Number : 90 Question Id : 7368154940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks with the correct form of idioms /proverbs by choosing the correct option
given.

He comes round to see me

Options:
, % frequently

-~ % usually
5 w rarely

4  periodically

Question Number : 90 Question Id : 7368154940 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Fill in the blanks with the correct form of idioms /proverbs by choosing the correct option
given.

He comes round to see me

Options:
, = frequently

> % usually
5 x rarely

4  Dberiodically

Question Number : 91 Question Id : 7368154941 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Complete the sentence below by choosing one related pair of words that will fill in the
blanks:

The best things are not :

Options:
, % given and taken

» % bought and sold

= % lent and borrowed

4 gifted and returned

Question Number : 91 Question Id : 7368154941 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Complete the sentence below by choosing one related pair of words that will fill in the
blanks:

The best things are not :

Options:
, % given and taken

-~ % bought and sold

%z % lent and borrowed

4 gifted and returned

Question Number : 92 Question Id : 7368154942 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Complete the sentence below by choosing one related pair of words that will fill in the
blanks:

hinder good counsel.




Options:
1. Love and romance

- % Manliness and arrogance
- % Anger and hate

4 % Greed and hate

Question Number : 92 Question Id : 7368154942 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Complete the sentence below by choosing one related pair of words that will fill in the
blanks:

hinder good counsel.

Options:
1.9 Love and romance

- % Manliness and arrogance

- % Anger and hate

4 % Greed and hate

Question Number : 93 Question Id : 7368154943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A key word is given below. Choose the word closest to it in its meaning {synonym}. Pay
attention to how the word would be used to. if required:

Wisdom
Options:
| « Learning

- » Intelligence
5 % Insight

4 % Awareness

Question Number : 93 Question Id : 7368154943 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A key word is given below. Choose the word closest to it in its meaning {synonym}. Pay
attention to how the word would be used to. if required:

Wisdom
Options:
| « Learning

- » Intelligence

- w Insight



4 % Awareness

Question Number : 94 Question Id : 7368154944 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A key word is given below. Choose the word closest to it in its meaning {synonym}. Pay
attention to how the word would be used to. if required:

Ration
Options:

, % Supply
~ % Measure
= « Provision

4 % Portion

Question Number : 94 Question Id : 7368154944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A key word is given below. Choose the word closest to it in its meaning {synonym}. Pay
attention to how the word would be used to. if required:

Ration
Options:

; = Supply
- % Measure
3 « Provision

4 % Portion

Question Number : 95 Question Id : 7368154945 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A key word is given below. Choose the word closest to it in its meaning {synonym}. Pay
attention to how the word would be used to. if required:

Heavy [adj]
Options:
1 ® Severe

o % laxing

-  Oppressive

4 % Lethargic

Question Number : 95 Question Id : 7368154945 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



A key word is given below. Choose the word closest to it in its meaning {synonym}. Pay
attention to how the word would be used to. if required:

Heavy [adj]
Options:
1 ® Severe

> % Tlaxing

2 Oppressive

, # Lethargic

Question Number : 96 Question Id : 7368154946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A key word is given below. Choose the word which indicates the contradictory or opposite
meaning {antonym} of the key word:

Permission
Options:
1 % Confrontation

> % Opposition

= « Prohibition

4 % Prevention

Question Number : 96 Question Id : 7368154946 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A key word is given below. Choose the word which indicates the contradictory or opposite
meaning {antonym} of the key word:

Permission
Options:
1 % Confrontation

> % Opposition
= « Prohibition
4 % Prevention

Question Number : 97 Question Id : 7368154947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A key word is given below. Choose the word which indicates the contradictory or opposite
meaning {antonym;} of the key word:

Retarded
Options:



1 % Facilitated
> % Enabled

- » Developed

4 « Grown

Question Number : 97 Question Id : 7368154947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A key word is given below. Choose the word which indicates the contradictory or opposite
meaning {antonym;} of the key word:

Retarded
Options:
1 % Facilitated

> % Enabled
5 % Developed

4 « Grown

Question Number : 98 Question Id : 7368154948 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below the set of four words. One of the four words is spelled wrongly. Choose the
word that has been spelled wrongly :
Options:
, » Knowledgeable

- % Respectable
5  Acceptible

4 % Perceptible

Question Number : 98 Question Id : 7368154948 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below the set of four words. One of the four words is spelled wrongly. Choose the
word that has been spelled wrongly :
Options:
, » Knowledgeable

> % Respectable

2 Acceptible

, = Perceptible

Question Number : 99 Question Id : 7368154949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Given below the set of four words. One of the four words is spelled wrongly. Choose the
word that has been spelled wrongly :

Options:

1 % Personal
> « Personel
3 % Arsenal

4 % Seasonal

Question Number : 99 Question Id : 7368154949 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Given below the set of four words. One of the four words is spelled wrongly. Choose the
word that has been spelled wrongly :

Options:

1 % Personal
> « Personel
= % Arsenal

4 % Seasonal

Question Number : 100 Question Id : 7368154950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is a set of four words. Choose the word with the correct spelling:
Options:

1 % Greatful

> % Mindfull
5 « Graceful
4 % Shametull

Question Number : 100 Question Id : 7368154950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a set of four words. Choose the word with the correct spelling:

Options:
1 % Greatful

> % Mindfull
3 « Graceful

4 % Shamefull
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Question Number : 101 Question Id : 7368154951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The greatest number of 4 digits which is divisible by 12, 24, 36 and 60 is

Options:
1 ® 9850

> % 9934
2 = 8872
4 & 9720

Question Number : 101 Question Id ;: 7368154951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

4 37 Fr gEY T TEAT AT 12,2436 IR 60 F Besw §, a@ ¥
Options:

. % 9850

- % 9934

- x 8872

4 v 9720

Question Number : 102 Question Id : 7368154952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The average of 43 numbers is zero. Of them. at the most, how many may be greater than
zero?
Options:
1 0
oW 3
ST ] 1

4 « 42

Question Number : 102 Question Id : 7368154952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



43 TEITHT F AT T §l TN § HOFIH o FEAC T § iU &
Hhar g7

Options:

1. % 0

o % 8

3.231
4 v 42

Question Number : 103 Question Id : 7368154953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A man 1s rowing a boat in still water with a speed of 10 kumph. If the man can row the boat
50 km downstream. what will be the speed of the stream?

Options:
, % 60kmph

- o 40 kmph

5 % 10kmph

4 % 20kmph

Question Number : 103 Question Id : 7368154953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T HEAT BT 9 # 10 A /ae # 71fg § A9 =61 Thar 2] 3 J6r
HSHT 989 &r fEon 7 37 a9 & 50 Frar/ae &y ofy F wor gFar £, ar
T S AT F4T gef?

Options:

. % 60 frevEeE
5 v 40 T
5 % 10 fFaee
4 % 20 fraEe

Question Number : 104 Question Id : 7368154954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the next term of the series.
7.5.21.15.35.25,

Options:
1 ® 33

o W 42

3« 49



b
#
LA

A

Question Number : 104 Question Id : 7368154954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ST F S TG FT TAT A
7.9,21,15,35,25,

Options:

1 % 33

- % 42

3 « 49

4 % 55

Question Number : 105 Question Id : 7368154955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A boat is travelling 12 kmph upstream and 8 kmph downstream. Find the average speed of

the boat?
Options:
; « 9.6 kmph

> % 8.8 kmph

= % 20kmph

4 % 12kmph

Question Number : 105 Question Id : 7368154955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TF AT 12 FAET 8 F 92 F Bulg goar ¢ itk 8 e 9y ==
9819 &7 3o & ==y g, a1 J19 & 3| afg #& 99 e

Options:

| v 9.6 AT
. » 8.8 AT /me
- » 20 SR EE
4 % 12 A

Question Number : 106 Question Id : 7368154956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If PETER. is denoted as PEFVHN then ARTI will be denoted as

Options:
, % AFEPL

> « ASVL



s ® RRAL
4 % ARSJ

Question Number : 106 Question Id : 7368154956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Ife PETER & PFVHN for@r =mar &, ar ARTI &1 &% for@r seem?
Options:

, % AEPL
- « ASVL
- » RRAL
. % ARSJ

Question Number : 107 Question Id : 7368154957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Iflis4, 51s6. 31is 7 and 2 is 9 then what will be the sum of 1. 5. 3 and 27

Options:

1 23
2. o 20
ST ] 6

LA

Question Number : 107 Question Id : 7368154957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T 1H A4 A S5FE6AS, IFA7ATAT2FH 9 A, ar 1,53 3w 2
T TTET FIAT EEM?

Options:

, ®= 23
>« 26
=z % D6
4 % 87

Question Number : 108 Question Id : 7368154958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If one is zero. two is four. eight is nine and three is five then what will be the sum of one.
two. eight and three?

Options:
1 = 12

oow 34

= W 18



Question Number : 108 Question 1d : 7368154958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TE 1 F0OAS, 25 4 A, 8F 9 AT 3K 3 7 5 7, o 1,2,3 3t 8
ST TIET FIAT g 2

Options:

;% 12
> % 34
3 v 18
g ® 22

Question Number : 109 Question Id : 7368154959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TTE WS T AT Fl AT &, T FI ATl Fel T &, ATel S ST Fal
ST &, S9AT S AR FET AT g 3T AEN F FTr FEr v g, ar e

ST T F4T ZEm?
Options:

1\;"%?1?&
2.%3#'?'”-
3. % oflcl
4 ® AN

Question Number : 109 Question Id : 7368154959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If white is called red. red is called blue. blue is called purple. purple is called orange and
orange is called black then what will be the colour of sky?

Options:

, « Purple

> % Blue
z ® Red

4 % Orange

Question Number : 110 Question Id : 7368154960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If room is called bed. bed is called pillow. pillow is called window and window is called
ink then on what would a man sleep?

Options:



1 « Pillow
> % Bed

z % Ink

4 % Window

Question Number : 110 Question Id : 7368154960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

I FAL F TEIT FET FA0, AT F aEar FEr F1v, aar #F SR FaE
T 3T W=FHr F =@ FeT AT, IO T9ET JEAT FE 9w geem?

Options:

| v
2.361%”?'?
I,
4_Qﬁ§3ﬁ’r

Question Number : 111 Question Id : 7368154961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Compute the following.
8872+3342-1232

Options:

1 ® 786554

> % 0679845

= « 883196

4 % 673321

Question Number : 111 Question Id : 7368154961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
m=tafaa $r o= F: ¢
887°+334%-1232

Options:

. % 786554
. = 679845
.« 883196
. % 673321

Question Number : 112 Question Id : 7368154962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Five girls are sitting in a row. Seema 1s right of Rajni and left to Geeta. Aneeta is sitting
left to Rajni. Arti is between Rajni and Aneeta. Who 1s immediate right to Rajni?

Options:

1 ® Geeta
o o Seema
- = Rajni

4 ® Aneeta

Question Number : 112 Question Id : 7368154962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

9T TEfRar U Fa H a5 g WA e F g ik e & a8 g
HATT, T & S 987 §| 3R, ST iR T F S H 851 8| = &
3 T Fia 3T 872

Options:

1_u?ﬁT-|T
> v AT
g_um?ﬁ'
, % 3T

Question Number : 113 Question 1d : 7368154963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Compute the following

114x 234 x 123
Options:
1« 3281148

> % 1234334
s = 1123211
4 % 3456308

Question Number : 113 Question Id : 7368154963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
At Fr e F:i
114 x 234 x 123

Options:

| v 3281148
. % 1234334
2 = 1123211
., = 3456398

N



Question Number : 114 Question Id : 7368154964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the value of Z7

Z£=1234321
Options:
1 % 1334

5 o 1111
3 % 453
4 % 9986

Question Number : 114 Question Id : 7368154964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Z FT AT 7 F2?
Z2=1234321

Options:

% 1334
oot 1T
2 % 453
., % 9986

Question Number : 115 Question Id : 7368154965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Compute the following : 234+456-(345-8871)x188+123
Options:

, ® 4456732

> « 1603701
5 % 234778
4 % 123221

Question Number : 115 Question Id : 7368154965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Frataf@a Fr =T F7 : 234+456-(345-8871)x188+123
Options:

| % 4456732
. » 1603701
. % 234778
. = 123221



Question Number : 116 Question Id : 7368154966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Harshit works from home. He needs to be connected to the Internet all the time and
remains most of the time at telephonic calls. Financially. he should

Options:
1 + install WiFi and have a unlimited calls landline connection

- % have a landline connection only

- % Install Wifi only

, % have a costly data pack on mobile and a limited calling landline connection at home

Question Number : 116 Question Id : 7368154966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 117 Question Id : 7368154967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

All the friends of Deepalk go to study Physics and Chemistry in the coaching. Deepak is
the topper of the class but he only goes to Chemistry classes. Which of the following
situations led him to take such a decision
Options:

, = Helisatopper

> % Heloves Chemistry

- » He hates Physics

,  Heis good at Physics but somewhat weaker in Chemistry

Question Number : 117 Question Id : 7368154967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 118 Question 1d : 7368154968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
After completing his graduation from a private engineering college. he applied for
Professorship i the same college. He might have taken such a decision because

Options:
, » Hewas good at studies

- % He doesn't likes Government jobs

-  He likes teaching as a profession

4 % Hewas not selected for any job

Question Number : 118 Question Id : 7368154968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 119 Question Id : 7368154969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

You are a teacher. A boy is regularly teasing a girl. She is not complaining but it happens
in front of vou. What will vou do

Options:

, w Take the boy to the Principal



-  Talk to the girl first and then take an appropriate action

- % Call the police and handover the boy to them

4 % Talk to the boy and assure him that you won't tell this thing to anyone.

Question Number : 119 Question Id : 7368154969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 120 Question Id : 7368154970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Akash says Arnab."If you don't give money. I'll make you fired." Akash is the manager of
Arnab. What should Arnab do in such a case?

Options:
, % Straightaway give money to Akash

- % Negotiate first then give the money

- % Talk to the higher authorities on this first

4 « Talk to your colleagues and then with them go to the higher authorities

Question Number : 120 Question Id : 7368154970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 121 Question Id : 7368154971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25

You are going on a bike ride with your friends. Your bike met with an accident. You
cannot continue the journey now. But you are able to return to the home. What will you
do?

Options:

, % 11y tomake it to the home as soon as possible with all your friends

o Ity to make it to the home as soon as possible with any one of your friends
- % 1y tomake it to the home as soon as possible alone

4 % Ity to continue the journey

Question Number : 121 Question Id : 7368154971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 122 Question Id : 7368154972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
One of your friend is watching some explicit content on the Internet. What will you do?

Options:
1 % Ask him to share it on Facebook

o  Tell him that it is illegal and shut down the window

- % Askhim if he can download it and provide to you in a Pendrive

4 % Tell him that you can enjoy it and you won't be telling it to anyone

Question Number : 122 Question Id : 7368154972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 123 Question Id : 7368154973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A man who is a member of your society is creating nuisance in front of everyone after

having alcohol. What will you do?
Options:
, = Call the police and handover him to them

-  Call his family members and try to convince him fo go to home with them
5 % Beathimup

4 % Won't do anything because it's none of your business

Question Number : 123 Question Id : 7368154973 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 124 Question Id : 7368154974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Statement: The new Beti Bachao scheme has paved new ways for the betterment of girls
Argument 1: Women empowerment in the Indian society was necessary
Argument 2: The scheme is beneficiary in many ways

Options:
L= Argument 1 is strong

5 ® Argument 2 is strong
-  Both the Arguments are strong

4, % Neither of the Arguments are strong

Question Number : 124 Question Id : 7368154974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 125 Question Id : 7368154975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Statement: The police denied the allegations but eye witnesses paint a different story
Argument 1: What actually happened is not clear

Argument 2:; The so called eye witnesses are saying the bitter truth which the police is not
accepting
Options:

L= Argument 1 is strong

5 % Argument 2 1s strong

-  Both the Arguments are strong

, % Neither of the Arguments are strong

Question Number : 125 Question Id : 7368154975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 126 Question Id : 7368154976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Statement: The aircraft accident was the 7th aircraft accident in a single year in Nepal.
Argument 1: The aircraft used in Nepal needs a urgent supervision

Argument 2: Nepal is not a place to fly aircrafts
Options:

| Argument 1 is strong

5 #® Argument 2 is strong

5 » Boththe Arguments are strong

, % Neither of the Arguments are strong

Question Number : 126 Question Id : 7368154976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 127 Question Id : 7368154977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Statement: The eligibility criteria for the exam needs to be fulfilled

Argument 1: Applications would be rejected in the case they do not fulfill the eligibility
criteria

Argument 2: Filling examination forms is not at all feasible
Options:

1w Argument 1 1s strong

5 % Argument 2 is strong
- % Boththe Arguments are strong

4, % Neither of the Arguments are strong

Question Number : 127 Question Id : 7368154977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 128 Question Id : 7368154978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Statement: Sports are an indivisible part of a student's life

Argument 1: Only sports must be a priority in a student's life

Argument 2: Sports are necessary for the overall development of a student
Options:

| = Argument 1 is strong

o o Argument 2 1s strong

- » Boththe Arguments are strong

, % Neither of the Arguments are strong

Question Number : 128 Question Id : 7368154978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 129 Question Id : 7368154979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Aditya's nephew is the son of my wife. My daughter is Aditya's

Options:



1 % sister
> % sister-in-law
3 « niece

daughter

Question Number : 129 Question Id : 7368154979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 130 Question Id : 7368154980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The only son of Raju's sister is the father of Chatur. Chatur 1s Raju's sister's

Options:
1 ® Son

> o Grandson
- » Nephew
4 % Son-in-law

Question Number : 130 Question Id : 7368154980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 131 Question Id : 7368154981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If I am the only child to the only son of my grandfather. then the grandaughters possessed
by my grandmother will be

Options:



1 « Cannot be determined
o R 1
3 ® Zero

4 % eitherlor2

Question Number : 131 Question Id : 7368154981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

PR H 39 SENATT & Tehalld 9 & THhaldl oISaT ﬁ ar a8 e/ S
Sraar gifaar/afaar aefe

Options:

o

2&31

;%

4 % 1 379aT 2

Question Number : 132 Question Id : 7368154982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Ponting towards a photograph. Parul said."The man in the picture is the the grandson of
my father's wife's father-in-law". The man is Parul's

Options:
1 % Father-in-law

- % Father
3 « Brother
4 % Brother-in-law

Question Number : 132 Question Id : 7368154982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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, % S (Brother-in-law)

Question Number : 133 Question Id ;: 7368154983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



The sister of Amit is the only daughter-in-law of Rinkesh's father. Rinkesh's son Abhay is
Amit's

Options:

1 & No relation

> % Uncle
T T
5  Nephew

4 % Brother

Question Number : 133 Question Id : 7368154983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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5 % == (Uncle)
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Question Number : 134 Question Id : 7368154984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which one of following keywords/phrases differ from the others in the given options?

Options:
1 = EPN

> % XVT
s « KIH
4 % ECA

Question Number : 134 Question Id : 7368154984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

, % RPN
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-« KIH
, = ECA

Question Number : 135 Question Id : 7368154985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



In the given alternatives, one of the numbers is dissimilar from the other given alternatives.
Find the one which 1s dissimilar

Options:

1 ® 125

=

o o 25
T W 720
4 ® 512

Question Number : 135 Question Id : 7368154985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

. % 125
. 256
5 % 729
4 % 512

Question Number : 136 Question Id : 7368154986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Find the odd one out from the given alternatives
Options:

L % Eyes

> #% Nose

=z % Ears

4 « Mouth

Question Number : 136 Question Id : 7368154986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 137 Question Id : 7368154987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of following keywords/phrases differ from the others in the given options



Options:
1 ® BDF

> % DHL
= % CFI
4.« EIP

Question Number : 137 Question Id : 7368154987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
o ereci/arFamedt # ¥ #ia & Reey g & &= 872
Options:

, % BDF
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. v EJP

Question Number : 138 Question Id : 7368154988 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

In the given alternatives, one of the numbers is dissimilar from the other given alternatives.
Find the one which 1s dissimilar

Options:

1« 196

5 % 150
s = 210
4 % 226

Question Number : 138 Question Id : 7368154988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

| « 196

> % 150

3 % 210

L 226

Question Number : 139 Question Id : 7368154989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Find the odd figure in the given sequence.

nlnﬁTaﬁ:—
A — olA O

Options:
1 = 4

> ®% 3

I

= W

—

4 ®

Question Number : 139 Question Id : 7368154989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

1%4

2%-33

3 2
4 % 1

Question Number : 140 Question Id : 7368154990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the odd figure in the given sequence.

©000

Options:
1. ¢ 4

2.333

I

3 %

—

4 #

Question Number : 140 Question Id : 7368154990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
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Options:
1. v 4

2 % 3
3%-32
4 % 1

Question Number : 141 Question 1d : 7368154991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the odd figure in the given sequence.

¥ e 1 L2

A

Options:
1. ¢

L]

I

o W

3 %

-

4. ®

Question Number : 141 Question Id : 7368154991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

1 ¢ 3

> ® 2

= % 4

4 % 1



Question Number : 142 Question Id : 7368154992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Select a figure amongst the Answer Figures which will continue the same series as
established by the three Problem Figures

NIRRT N

2 3 4

x| [

Options:
1 ® 1

2.%2
2 ¢ 3
4 % 4

Question Number : 142 Question Id : 7368154992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
1 *® 1

2_%2
z ¢ 3
4 % 4

Question Number : 143 Question Id ;: 7368154993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Select a figure amongst the Answer Figures which will continue the same series as
established by the three Problem Figures

Rl e e R RaE

a

i 3 ¥ &
Options:
1. ¢

> R

I

3 ®

e S IV

4 %



Question Number : 143 Question Id : 7368154993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
1. ¢ 2

2.233
3_234

4 % 1

Question Number : 144 Question Id : 7368154994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Find the missing term.
1311, 1029

Options:
1 ® 143

> ® 467
T W 56
4 o &5

Question Number : 144 Question Id : 7368154994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

g1 fgar = ug AT Y
13,11, ____ ,1028

Options:

1 = 143

> % 467

o ® 56‘

Question Number : 145 Question Id : 7368154995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the missing term.

0.50,0.33,0.25,0.20, ,0.14

Options:
1 % 0.15



> « 0.16
3 % 022
4 % 0.17

Question Number : 145 Question Id : 7368154995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
el &ar 1ar 9g A1 FY
0.50,0.33,0.25,0.20, ,0.14

Options:

, % 0.15
- « 0.16
2 % 0.22
4 % 017

Question Number : 146 Question Id : 7368154996 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Find the next term of the series.
3.12.27.48.75,

Options:

i % 86

= b 93

=3 % O8

4 ¢ 108

Question Number : 146 Question Id : 7368154996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

; = 86

> # 92

z % 98

L v 108

Question Number : 147 Question Id : 7368154997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the next term of the series.
3.10.21.36.55,

Options:



1. & 78
> #% 83
= % 92
4 ® 108

Question Number : 147 Question Id : 7368154997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
FGAT & 37Tl 9 FT 9T Y]
3.10.21.36:55.

Options:

1. ¢ 78
> % 88
z ® 92
4 % 108

Question Number : 148 Question Id : 7368154998 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Find the next term of the series.
249.72.14,

Options:

1 = 9

2 ¢ 4
o 12

g4 13

Question Number : 148 Question Id : 7368154998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
FGAT & 3Tl 9 T 94T #I21T|
249,72,14,

Options:

1. % 9
2 ¢ 4
z % 12
4 % 13

Question Number : 149 Question Id : 7368154999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A boat is travelling § kmph downstream and 7 kiph upstream. Find the speed of the boat
in still water.
Options:



, % 3.4kmph

5 % 66kmph

5 o 1.5 kmph

4 % 15kmph

Question Number : 149 Question 1d : 7368154999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

THF AT FA/AE AT T RE & R A I Er IR 7 A '
¥ Rral Todr ¥ T Ot F a9 if aar gen

Options:

, = 3.4 e
. » 66 RO
5 v 7.5 A Ee
4 % 15 TR

Question Number : 150 Question Id : 7368155000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the next term of the series.

29.58.116.232.464.

Options:
| % 456

5 o DR
z ® T30
4 % 656

Question Number : 150 Question Id : 7368155000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
FGAT & 33T g FT 94T INT|
29.58,116,232,464,

Options:

, % 456
. v 928
2 % 736
., % 656
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Question Number : 151 Question Id : 7368155001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In which part of Indian Constitution. the details of citizenship are included?

Options:

1 ® Part]

> % PartIV
= o PartII

4 % PartIll

Question Number : 151 Question Id : 7368155001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TR Bfaus F B gt # aERear ¥ g Reror afae #2
Options:

1 = HATT l

o= E:H?TIV
4 % ST I

Question Number : 152 Question Id : 7368155002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The concept of PIL (Public Interest Litigation) originated from?
Options:

1 +« United States of America

5 w Germany

5 % United Kingdom

g India

Question Number : 152 Question Id : 7368155002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



9.3TL.T. (FATRT FMHT) F Hehed HT IeITH Fgl H g7

Options:

| HOET U= FAATE
1 ¥ 3
- B Eﬁ?-ﬂ'
T #® A E

4_@3%

Question Number : 153 Question Id : 7368155003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Regarding the Election of President. who resolve the disputes?

Options:
, » RajyaSabha

- % Lok Sabha
z #% Election Commission

4 Supreme Court

Question Number : 153 Question Id : 7368155003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ey & faea ¥ F3 e # gaE #T w1 82

Options:
| % [T T

o % TR T
- % TEmES HTEET

W
4  TAEE FATATAE

Question Number : 154 Question 1d : 7368155004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘Which one of the following articles of Indian Constitution allows impeachment of
President?

Options:

1 « Article 61

> % Article 45
z % Article 86
4 % Article 201

Question Number : 154 Question 1d : 7368155004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



s wfaure # Peafafae # @ FiF @ asde Teeuia WA
T B AT ST &7
Options:

lﬁaﬁﬁﬁ:m
, « Hg=oq 45
. » Hg=oc 86
4_uaﬁﬁﬁrzo1

Question Number : 155 Question Id : 7368155005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The total number of articles in Indian Constitution is
Options:

;. « 350

> % 395
s % 450
4 % 500

Note: For this question, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 155 Question Id : 7368155005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ARAT diaua & Fo Faa wg=oe 87
Options:

| 350

, % 395

- % 450

. % 500

Note: For thisquestion, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 156 Question Id : 7368155006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Dada Saheb Phalke Award is associated with
Options:

| w DBravery

- % Politics

5 % Sports

4 « Movies



Question Number : 156 Question Id : 7368155006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
aIeT WIES Blosh JIEFN FT Ty Faw 27

Options:

% ST
zlﬁémﬁhﬁ
3 % Wl

4.ufﬁ"_'~'"=‘:r

Question Number : 157 Question Id : 7368155007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which cricketer received Arjuna Award for the year 2015?
Options:

1 % M.S.Dhoni

> % Umesh Yadav

= + Rohit Sharma

4 % Yuvraj Singh

Question Number : 157 Question Id : 7368155007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

frw fordhe sy &1 a¥ 2015 & T 35 [WEFR 9er= fomar o 82

Options:
, % TH. TH. o=
o % 3HI TET

S_Jﬁ%?f?m‘r
e “THE BR

Question Number : 158 Question Id : 7368155008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The highest Civilian Award in India is

Options:
1 % Padma Shri

- % Padma Bhushan
=z % Padma Vibhushan

4 + Bharat Ratna



Question Number : 158 Question Id : 7368155008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

9INT H Tar=T ARG EF 2]

Options:
| w TEIET

.. GHHATUT
> B o~

_ ur Fyuor
3_&3 &

Question Number : 159 Question Id ;: 7368155009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following award is related to Sports?

Options:
, « Dronacharya Award

> % Dada Saheb Phalke Award
= % Ashoka Chakra Award

4 % Gnanapeeth Award

Question Number : 159 Question Id : 7368155009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
fFrafafEa 7 Fia &1 W - S § geeg g2
Options:

1_waﬁvﬂaﬁw
il aIaT WES Tlesh WEPR

i HIMF I TERR

4% SIGEIE g'{{-ﬂhlﬂ’.

Question Number : 160 Question Id : 7368155010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Which one of the following is the highest Military or Wartime Gallantry Award in India?

Options:
, w» Gnanapeeth Award

- « Param Vir Chakra
= #% Khel Ratna Award

, » Dhyan Chand Award



Question Number : 160 Question Id : 7368155010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

fTrafof@a & @ Flaar R d7a § Faied 8 72T JEHree aar
TEFR &7
Options:
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i

|
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Question Number : 161 Question Id ;: 7368155011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The author of the book ‘Broken Wings’ is

Options:
1 % Jawaharlal Nehru

- % Kushwanth Singh

z # AP.JAbdul Kalam
4  Sarojini Naidu

Question Number : 161 Question Id : 7368155011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

et 70 qFa & oEF Fid 27
Options:

| % STETET O Agw
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TS Hegd FAH
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Question Number : 162 Question Id : 7368155012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following is not the book written by Rabindranath Tagore?

Options:
1+« AnandMath

- % Geethanjali



= % Chandalika
4 # Chitra

Question Number : 162 Question Id : 7368155012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
e § @ w7 & o Weary S g A B s 82
Options:

| v HEEHS
- % TSI
5 % TSTToTeT
e

Question Number : 163 Question Id : 7368155013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Author of the ‘Discovery of India’ is

Options:
1 % Mahatma Gandhi

> « Jawaharlal Nehru
5 % Sarojini Naidu
4 % C.Rajgopal Chary

Question Number : 163 Question Id : 7368155013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘fRG T& @ (Discovery of India) & o1& gl
Options:

| % HEAT FMef

» SAAEY el dAgw

4

U E DI D

Question Number : 164 Question Id : 7368155014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following is not the work of Dr. A P.J.Abdul Kalam?
Options:

, % Wings of Fire

> % Scientist to President



-  Malgudi Days

4, » lgnited Minds

Question Number : 164 Question Id : 7368155014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
frafaf@a & @ #ia O gFae - 3. v 9. S 3egd FoH @R F@ o
g E7

Options:

, w SASE T el
|, HATeIFIET 3

= =

, « BITECE AESH

Question Number : 165 Question Id : 7368155015 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The author of the book Malgudi days is
Options:

1w R.K Narayan

- % AP.JAbdul Kalam

- % Kushwanth Singh

4 % Vishnu Sharma

Question Number : 165 Question Id : 7368155015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ATREN 3 ATHF T & oS ¢
Options:

| HR. & AT

- T, Hegd FoATH

fasoT ot T
4 ® 2

Question Number : 166 Question Id : 7368155016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

‘Onam’ is the State festival of
Options:

1 « Kerala



> % Ilelangana

= % Tamil Nadu
4 % Karnataka

Question Number : 166 Question Id : 7368155016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘HIUTH' Fel & =T 3¢9 g7
Options:

| &
zﬁm

Question Number : 167 Question Id ;: 7368155017 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Paika’ Dance is the traditional dance of which Indian state?
Options:

, % Madhya Pradesh

- % Orissa
3 « Jharkhand

4 % Jammu & Kashmir

Question Number : 167 Question Id : 7368155017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

‘g (Paika) Fc RT & 8 TsT F TRFINE 7 87
Options:

| % HET 9T

Question Number : 168 Question Id : 7368155018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The Marathi new year’s day is celebrated as
Options:

, % Ugadi



- % Lohn
= % DBasant Panchami
4 + Gudi Padwa

Question Number : 168 Question Id : 7368155018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT A9 IY feaw & T H FHAIT Fam 87
Options:

1 ® 34 g
> % gl

G RCEC]
4 2

Question Number : 169 Question Id : 7368155019 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
First General Elections in independent India were held in the year of?

Options:
;. ® 1948

> « 1951
3 % 1961
4 % 1959

Question Number : 169 Question Id : 7368155019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

AT AT H IYH HH AT g av #7 ymofea fRar 3 ar?

Options:

| % 1948
- 1951
2« 1961
, = 1959

Question Number : 170 Question Id : 7368155020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
First woman Governor in independent India is
Options:

| « Sarojini Naidu

> % Pratibha Patil



5 % Sushma Swaraj

4 % Vijayalaxmi Pandit

Question Number : 170 Question Id : 7368155020 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TaT AT HT 9YH AfgeT T=I9 &
Options:
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4 % TSSATEAT II2d

Question Number : 171 Question Id : 7368155021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following is the both fundamental right and a Human right according to
Constitution of India?

Options:
, % Rightto Vote

- » Rightto Work
-  Right to Education

, % Right to Information

Question Number : 171 Question Id ;: 7368155021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T & AU F FER, Feaionad # ¥ a7 dowr - A sfter
AR AT HOFR =T & 22

Options:
| % AASE FA FH HAFHR

> % TIH F AR
- BT &7 HRER
AT &1 HTOER

4 %

Question Number : 172 Question Id ;: 7368155022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which article of Indian Constitution allows central government to form new States?

Options:



1 « Article 3

> % Article 66
z % Article 29
4 % Article 55

Question Number : 172 Question Id : 7368155022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT SIS &7 &I a7 HI=OE, F2 TIFN FF AT T=T Sl Fr AT
aar &2

Options:

i e 3433?&33
gp S
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Question Number : 173 Question Id : 7368155023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which among the following State in India has minimum members in Legislative
assembly?

Options:
, » Telangana

> o Sikkim
= # Uttar Pradesh

4 % Maharashtra

Question Number : 173 Question Id : 7368155023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
SR & TEafeied J ¥ 9 I 7 - ua @7 # wga48 365 27

Options:

1_w?tFiT1F-|T
o v TRfEwA
5 % 3l 9o
4 % HENE

Question Number : 174 Question Id : 7368155024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Who is considered as father of ‘All India Services™?
Options:
1 + Sardar Vallabhbhai Patel

-~ % DBhagat Singh
% % Subhash Chandra Bose
, » Lokamanya Tilak

Question Number : 174 Question Id : 7368155024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

‘HITS ARET Tar FT 9T Y T ST 82

Options:

| v TER FoosisTy e
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i

4 % RIS e

Question Number : 175 Question Id : 7368155025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The country which shares longest border with India is

Options:
1 % Pakistan

> % China
- % Nepal

4 « Bangladesh

Question Number : 175 Question Id : 7368155025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TisT T 397 T F T T o WA (S15T) WS Far &2
Options:

1_$¢m
5 % T
5 % FqTel
4 T

Question Number : 176 Question Id : 7368155026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Who won the ICC under-19 cricket World Cup in 20167

Options:

1 % India

- % Pakistan

3 « West Indies
4 % New Zealand

Question Number : 176 Question Id : 7368155026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
I¥ 2016 H H=EET 3737-19 foahe Toreg &9 vy Siar am?

Options:
1 =% A
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Question Number : 177 Question Id : 7368155027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who is the longest serving Chief Minister of Jammu & Kashmir?

Options:
1 % Omar Abdullah

o  Farooq Abdullah
z % Gulam Nabi Azad
4 % Syed Mir Qasim

Question Number : 177 Question 1d : 7368155027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 178 Question Id : 7368155028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Who is the present Chief Minister of Uttar Pradesh?

Options:
1 « Akhilesh Yadav

> % Mulayam Singh Yadav
5 = Mayawati

4 % Ram Vilas Pashwan

Question Number : 178 Question Id : 7368155028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
3ea] TCUT F TaAT JAETAN HiF 872

Options:
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- ® 25 @g

5 % HTIEAr
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Question Number : 179 Question Id : 7368155029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘Which of the following is not included in the first twenty shortlisted cities under smart
cities mission of Indian Government?
Options:
1 % Pune

> % Ahmedabad
= % Bhubhaneshwar
4 « Nasik

Question Number : 179 Question Id : 7368155029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 180 Question Id : 7368155030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who is the present Governor of Reserve Bank of India?

Options:
1 % D. Subbarao

- % Y.Venugopal Reddy
-  Raghuram Rajan

4 % Bimal Jalan

Question Number : 180 Question Id : 7368155030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AT ST &% FT I9He AT ST 22

Options:

T ?r.ﬁ?errm'
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=4 4

4 % T&HST AT

Question Number : 181 Question Id : 7368155031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The Indian State which has the longest coastline is

Options:
1+« Andhra Pradesh

> % Tamil Nadu
= % Maharashtra
4 % Kerala

Question Number : 181 Question Id : 7368155031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

9T & T =T &I Je@r §a8 JfUs oFr g7

Options:
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Question Number : 182 Question Id : 7368155032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The research center of India *Himadri® is located at
Options:

1 % Antarctic

> w Kargil

5  Arctic
4 % Ladakh

Question Number : 182 Question Id : 7368155032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ST T T g ‘AR Fgr W g 22

Options:

Question Number : 183 Question Id : 7368155033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Who is the present CEO of Infosys?
Options:
, w» Arjit Agarwal

» % Narayana Murthy

5 % N.S.Raghavan
4 + Vishal Sikka

Question Number : 183 Question Id : 7368155033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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4 v Eee e

Question Number : 184 Question Id : 7368155034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
Who is the present President of Board of Control for Cricket in India?

Options:
1 % Sharad Pawar

- % Srinivasan
= « Shashank Manohar
4 % Ravi Shastri

Question Number : 184 Question Id : 7368155034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT T ST 91T FT TAHT HeTeT FiF 272
Options:
1 % QHE‘:E"IT

- B -‘ﬁ'ﬁ-’l’q"l'ﬂ?
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Question Number : 185 Question Id : 7368155035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who is the present Chief Minister of Jharkhand?

Options:
1 % Babulal Marandi

-  Raghubar Das

= % Hemant Soren

4 % Arjun Munda

Question Number : 185 Question Id : 7368155035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 186 Question Id : 7368155036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
From the following. is the oldest dynasty?

Options:
| Maurya dynasty

5 % Gupta Dynasty

- % Pallava Dynasty

, % Chola dynasty

Question Number : 186 Question Id : 7368155036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 187 Question Id : 7368155037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which one of the following river is known as ‘Sorrow of China’?
Options:

1 # Amazon

o o Hwang Ho

5 % Congo

4 % Bago

Question Number : 187 Question Id : 7368155037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 188 Question Id : 7368155038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
Under what act the constituent assembly of India was set up?

Options:

, + Indian Independence Act
- % Wavell Act

- % Cripps Mission
4 % Mountbatten Act

Question Number : 188 Question 1d : 7368155038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 189 Question Id : 7368155039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The first State in India. which was separated on linguistic basis
Options:

1 #® Goa

- % Kerala
= « Andhra Pradesh
4 B Rajasthan

Question Number : 189 Question Id : 7368155039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 190 Question Id : 7368155040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Who started the ‘Sarvodaya’ movement?

Options:
1 % Mahatma Gandhi

> % Abdul Kalam Azad

-  Acharya Vinoba Bhave

4, % Jaiprakash Narayan

Question Number : 190 Question Id : 7368155040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 191 Question Id : 7368155041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which one of the following is not the official language of United Nations Organization?

Options:

, » English
- % French
= o German
4 % Spanish

Question Number : 191 Question 1d : 7368155041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 192 Question Id : 7368155042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



The old name of Axis Bank is
Options:
1 « UTI bank

- % Global Trust Bank
=z % Dena Bank
, % Ing VysyaBank

Question Number : 192 Question Id : 7368155042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 193 Question Id : 7368155043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
With which of the following games. Geet Sethi is associated?

Options:
1 % Badminton

> % Table Tennis
3z % Cricket
4 + Billiards

Question Number : 193 Question Id : 7368155043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 194 Question Id : 7368155044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Where is National Institute of Nutrition (NIN) located?

Options:
, « Hyderabad

> % Pune
= % New Delhi

, % Bangalore

Question Number : 194 Question Id : 7368155044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 195 Question Id : 7368155045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who is the present Chief Justice of India?

Options:
1 % M.H.Kania
> « T.S.Thalur

- % Ajit Nath Ray

4 % Amal Kumar Sarkar

Question Number : 195 Question Id : 7368155045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 196 Question Id : 7368155046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Who is the present Minority Affairs Minister of India?
Options:
, « Najma Heptulla

- w Farooq Abdulla

= % Lal Jan Basha

4 % Taslima Fatima

Question Number : 196 Question Id : 7368155046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 197 Question Id : 7368155047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Under whose captaincy Indian cricket team toured to Pakistan for the first time?

Options:

, % Kapil Dev

-  Bishan Singh Bedi

= % Azharuddin

4, % Manoj Prabhakar

Question Number : 197 Question Id : 7368155047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 198 Question Id : 7368155048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Who among the following is popularly known as Deshbandhu?

Options:
, « Chittaranjan Das

> % Jyothiba Phule

= % Vinobha Bhave
, % Dada Bhai Naoriji

Question Number : 198 Question Id : 7368155048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 199 Question Id : 7368155049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In terms of Economics. SEZ stands for?

Options:
, % Standing Economic Zone
- % State Economic Zone

% % Southern Economic Zone

4  Special Economic Zone

Question Number : 199 Question Id : 7368155049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 200 Question Id : 7368155050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
The RBI governor who also served as Prime Minister of India is

Options:
, w Sachindra Ray

> % C.D.Deshmukh

=  Manmohan Singh

4 % D.Subbarao

Question Number : 200 Question Id : 7368155050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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